

### True Stress and Strain

6.34 To show that Equation 6.18a is valid, we must first rearrange Equation 6.17 as

$$A_i = \frac{A_0 l_0}{l_i}$$

Substituting this expression into Equation 6.15 yields

$$\sigma_T = \frac{F}{A_i} = \frac{F}{A_0} \left( \frac{l_i}{l_0} \right) = \sigma \left( \frac{l_i}{l_0} \right)$$

But, from Equation 6.2

$$\varepsilon = \frac{l_i}{l_0} - 1$$

Or

$$\frac{l_i}{l_0} = \varepsilon + 1$$

Thus,

$$\sigma_T = \sigma \left( \frac{l_i}{l_0} \right) = \sigma (\varepsilon + 1)$$

For Equation 6.18b

$$\varepsilon_T = \ln (1 + \varepsilon)$$

is valid since, from Equation 6.16

$$\varepsilon_T = \ln \left( \frac{l_i}{l_0} \right)$$

and